
 

* * 

6 FT 

All Sides the Same 

64 ½” 

1 ¼” Self 

Tapping 

Screws 66” 

‘ 

End Caps 

¾” Self 

Tapping 

Screws  

 

screws 

2 ½“x 3/8” 

Bolt & 

Washer- on 

both sides 

3 - 1 x 3/8 

Bolts 

40” 

Tools Needed 

• 9/16 Wrench 

• 9/16 Socket and Ratchet 

• 3/8 and 5/16 Hex Tips 

• Cordless Drill 

 

20 -   1” x 3/8” Bolts 

22- Nuts 

2- 2 ½ x 3/8“Bolts 

4- Washers  

5- End Caps 

4-   1 ¼“   Self tapping 

screws (silver)                  

 8 -   ¾” Self tapping 

screws (brown) 

• Bolt Platform in the Slots on Front of Blind; use 

3 - 3/8 x 1” Bolt thru angle. 

• Raise blind 

• Slide Leg into Stub, while holding leg put     1 ¼” 

Screws through Stubs into leg. 

• Leave Blind 2” off Ground, Install Braces leaving 

all Bolts Loose. 

• Lower Blind 

• Pull Out on all Legs settling the Blind. 

• Tighten All Bolts 

• Install handrail 

• Raise Ladder and Fasten. 

•  -- Marks   1” x   3/8” Bolts 

• * -Marks Self Tapping Screws 

•  

 

 

6 x 6 Economy 

 5 ft Stand  

 


